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1. What are the two speakers talking about?

A. A place. B. A festival. C. A subject.
2. What's the name of the man speaker’s festival?

A. Non-drinking Day.

B. Non-driving Day.

C. Dangerous Day.
3. How much did the man spend for his lunch?

A §7.5. B. $6.5. C. §6.
4. What’s the woman going to give her father for Christmas?

A. Some cigarettes. B. A radio. C. A lighter.
5. What did the woman buy for her father?

A. A wartch. B. A toy mobile phone. C. Nothing.
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6. Which of the following is the most important festival in China?
A. Christmas. B. The Spring Festival.
C. The Mid-autumn Day.
7. What are the two speakers talking about?
A. The National Day.
B. How to celebrate the Spring Festival.

C. Festivals in China.

R —BR o, FIE S 8 B 10 .

8. What are the two speakers talking about?
A. The US holidays and so on.
B. The US language and so on.
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C. The US presidents and so on.
9. Which festival do they celebrate on Feb. 147
A, National Day. B. Valentine's Day.
C. Mothers’ Day.
10. Who is considered to be one of the best presidents besides George
Washington according to the speaker?
A. Benjamin Franklin. B. John F. Kennedy.
C. Abraham Lincoln.
W — B, EES 1 2 13
11. When will the man’'s party be held?
A. On Chinese National Day.
B. On the Spring Festival.
C. On Christmas Eve,
12. What is Lily according to the dialogue?
A. A Chinese teacher.
B. A Chinese student.
C. An American student.
13. What does the woman offer to do?
A. To prepare some records.
B. To invite Bob and Jane to the party.
C. To tell the teachers about the party.
R — B AL, EEE 14 EH 17,

14. Which country do they probably want to travel to?

A. France. B. Canada. C. Japan.
15. How many of them will travel together?
A. Two. B. Three. C. Four.

{16. Where do they plan to stay?
A. Cheap hotels. B. Expensive hotels.
C. Youth Hostels.




17. What does Mary's father think of the plan?
A. He’'s not decided. B. He agrees.
C. He's against it.
W R — B AR, M 18 B 20 &,
18. In which of the following countries is Christmas Day not often
celebrated?
A. America. B. England. C. China.
19. What do people usually do on Christmas Day?
A. They usually hold parties with their friends.
“B. They usually give gifts to each other.
C. They usually go to watch football matches.
20. Who in {fact give the children gifts on Christmas Day?
A. Father Christmas.
B. Their parents.
C. Jesus Christ.
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i Heelthy eating ]

4 Problems with diet (EX-E&]79)

# Balanced diet and nutrition ( #4508 & 578 7)
S
aliiiRichal tems

% Suggestions and advice {(#£I{FBIL)
% Seeing the doctor { HBE4)

#- Agreement and disagreement {[FI& 5 AR E)

New words

@ toast /roust/ n. HEHEH ® health department T4 &51]
@ improper /1m'props/ adj. FEHH @ jog /dzny vi. 121

@ garage /'gerag, @'ray/ v, THE ©® normal /'noml/ adi. IEHRY
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1. What do we know about the woman?
A. She is on a diet to lose weight.
B. She no longer likes heef.

C. She is nor hungry at the moment.

28

. What’s the two speakers’ problem?
A, They find it difficult to get up every morning,
B. They wake up too early in tbe morning.
C. They're not used to going to bed early.
3. What is the man going to do?
A. Go and see the doctor,
B. Take some medicine.
C. Stay and have a rest.
4. Where does the dialogue most probably take place?
A. In a restaurant. B. On a farm.
C. At the man’s home.
5. Which is NOT true according to the dialogue?
A. The man didn’t go home last weekend.
B. His mother told him 10 put on more clothes.
C. He didn’t 1el! his mother that he was ill.
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6. When is the conversation taking place?
A. In the morning. B. In the afterncon.
. In the evening.

7. How long has the restaurant been open?




A. 6 years. B. 60 years. C. 16 years.
8. What does the man suggest the woman have?
A. French bread. B. French toast.
C. French eggs.
BT E B, EES I EFR 118,
9. Where are the two speakers when the dialogue take place?
A. In the hotel. B. At home.
C. In a restaurant nearby.
10. What kind of food were they going to eat?
A. Chinese food. B. French foad.
C. English food.
11. Hoew many seats did they order?
A, Two. B. Four. C. Five,
W T —BUb s, BB S 12 5 13 &
12. Who is ill now according to the dialogue?
A. Mike. B. Jenny. C. Jerry.
13. What might have caused the disease?
A. Cold weather. B. Improper medicine.
C. Unbhealthy food.
W T — B R, A 14 BHE 17 8.
14. What is the probable relationship between the speakers?
A. Doctor and patient. B. Husband and wife.
C. Workmates.
15. Why does the man decide to give up ealing meat?
A. He realizes meat is bad for his health.
B. He loves to eat vegetables,
C. He wants to lose weight.
16. Why did the man stop jogging to work?
A. Because he hurt himself in the leg.
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B. Because he was always late for work.

C. Because he felt too tired to keep doing sc.
What will probably happen to the man?

A. The man will eat no meat from now on.
B. The man will go to work on bhike.

C. The man will go on jogging 10 work.

WTHE B, EESE 18 2% 208,

18.

19.

20.

What is the main topic of the text?

A. The advantages of freezing.

B. Cooking focd in the summer.

C. Food in the summer.

Which of the following would not be likely to go bad in warm
weather?

A. Bread. B. Ice-cream. C. Chickens.
According to the talk what should you do with food that seems to
be bad?

A. Throw it away.

B. Try a little.

C. Eat it at once.
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# Forms of literature and art: short story and drama { L% 5 Z A HE

A ER DR SRED
%- How to act out a play (I &R

*f Request (7HK)
# Ordering food (5 3)

New words

@ honestly /'omstly/ adv. HE MR @ glove /dav/ n. FE
D cash /kaj/ n. AL @ extra ['ekstra/ adi. BIMH
® melt /melt/ vi. Bk ® comedy /'komadt/ n. EE|
(D conductor /kan'dakts/ n. BER
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1. What did the man do last Saturday?

A. He saw a play. B. He acted in a play.

C. He went to the tea house.
2. How scon will the movie begin?

A. In 7 minutes. B. In 15 minutes.

C. In 30 minutes.
3. Where did this conversation take place?

A. In a department store. B. In a post office. C. In a bank.
4. Why doeesn’t the man want to have a cup of coffee?

A. He usually has it before lunch.,

B. He doesn't feel like one then,

C. He prefers tea to coffee.
5. How much did the woman's trousers cost”

A. $45. B. $12. C. $33.
BT
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6. What does the woman ask to do at first?

A. Change the gloves.  B. Return the gloves.

C. Try the gloves.
7. How much will she pay to get the gloves she likes?

A, $29.95, B. $35.25. C. $35.3.
Wi T -BOR R, FE S 8 TS 10 &
8. What are the two speakers talking about?

A. A film. B. A book. C. A story.
9, What did Karen think of the film?



A. She thought it was terrible.
B. She thought it was good.
C. She thought it was wonderful.
10. According 1o Karen, what did the film director de to the story?
A. He followed the story.
B. He improved the story.
C. He changed the story.
T — BB, EER 11 28 13
11. What is the man speaker?
A. An actor. B. A writer. C. A reporter.
12, What does the woman do in the play?
A. She acts a young lady. B. She directs the play.
C. She writes the play.
13. What does the woman want to be after this play?

A. A singer. B. A director.
C. A film star.
W E Bk, FESE 14 BH 17 8,

14. Why wiil the woman put on a show?
A. To make money. B. To have fun.
C. To find singers.
15. What kind of show is the woman going to put on?
A. A singing competition. B. A dancing party.
Il C. A music show.
16. What do we know about the man?
A. He'll sing and dance in the show.
B. He has never sung before.
C. He often appears on a stage.
17. What can we learn from the conversation?

A. Three songs will be sung in the show.




